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la. 8x-3/3x=2e3n3 B x=0.

1b.2/2+15=4/9 SAEBz=-1.

2. ADOT A3 T3Sy, MTI3A.
20. 6x + 1/3+ 1 =x-3/6 SN 3 x =2
a) 0
b) -1
c) 2
d)4
2b. 5x-2 (2x-7) = 2 (3x-1) + 7/2 3NT.3 x =2
a) 3/2
b) 5/2
c)3
d) 7/2
3. D&, .Y 30000
3a.X/2-1/5=x/3+IfSNTBI x =
3b.N/2-3n/4+5n/6+21 sNTBTBn=

4. TBRODR WDTAND.

FTOOT® 1 FoOT® 2 3. 3D
a) 3(y-3) = 5(2y+1) 1) y=0.6 a)
D) 15(y-4) — 2(y-9) + 5(y+6) =0 2) y=2 b)
c)y-(y-1)/2=1-(y-2)/3 3) y=-2 c)
d) 3(5y-7) -2(9y-11) = 4 4) y=2/3 d)
e)0.25(4y-3) = 0.05(10y-9) 5) y=7/5 e)
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5. BB D) JWRTE'S B3 S0V, 4.5 ODTSTOT. 20D TRENY 0BT BT SoHTY MW
5:6 ODTBBODIBT. TV BN SoH ), BT LBAD.

6. 6.7y +4/y+2=-4/3 3y, VDDOA.

7. 3y+4 [ 2-6y =-2/5 93y, &BOZDOA.

8. x+1/2x+3 = 3/8 &30, TOZOA.
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93003 3: 4 33T, €9538 BN SODARCRD,,.
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